LBEINIS BIRI30AFLEAE LEEAYYY—{EHEER N\ARRI—-R

‘E a B22EEBRA-TYIANTEFIEXR2024 [PI¥F17] Par 72 BFL£15— 7,091Yards
7 6,849Yard

(851592 R] 2024€10A31H (K) BF>D ards

gF 6,267Yards

IBz EF P +/- 1R OUT IN IBA BFL PR +/- 1R OUT IN [Zivd EFL P +/- 1R OUT IN
*x 1 ZFTrLO0 &ixcc -4 68 (36 32) * BiE XH HGA +8 80 (40 40) AT B FECC +13 85 (47 38)
* 2 UM BLE AFCC -2 70 (34 36) * HHE [BE AFCC +8 80 (41 39) 62 f{kFE = LB»FECC  +15 87 (45 42)
*x 3 ML EE LEBEEGC +1 73 (36 37) * B 2388 HGA +8 80 (40 40) =EB A EB%EEGC +15 87 (45 42)
* AT B BEEIBGC +1 73 (37 36) * B B EOHEGC +8 80 (39 41) HE B EIE#ACC +15 87 (43 44)
*x 5 MAKRBEDN  LSEEGC +2 74 (37 37) * K& HE FERCC +8 80 (42 38) 65 [EH E— Es&CC +16 88 (44 44)
* WR 8%  LBGC +2 74 (36 38) * 36 BAM— EBECC +9 81 (39 42) 66 EIF fE IBCC +17 89 (44 45)
* 7 FHIH&®E - EoRGC +3 75 (36 39) * SAIEF {ER EEEGC +9 81 (39 42) 67 HH#BL  LEBZR#EGC +19 91 (47 44)
* AR BEF EDEGC +3 75 (37 38) * IR S BrECC +9 81 (37 44) 68 AH M=EF MERCC +20 92 (47 45)
*x 9 /IR InE ®EBCC +4 76 (39 37) * Bz BT BB®BSILHECC  +9 81 (40 41) B KE JEOEGC +20 92 (46 46)
* R EE TMIRCC +4 76 (39 37) * MEER FEiECC +9 81 (38 43) =& =M WE =[ECC
* i 4T #HWIGC  +4 76 (38 38) * = =500 +9 81 (43 38) x5 HHMHEAH ILEBfEECC
* “H =B IEBFECC +4 76 (40 36) * B —F N\FCC +9 81 (38 43) & FAHIE [EEREGC
* S B8 EDEGC +4 76 (36 40) * 43 K K& LBGC +10 82 (40 42) x5 FiR K8 TECC
* 14 KB FHE  EoHGC +5 77 (40 37) * IRiR A — #EEF)11CC +10 82 (42 40)
* HE &5 =EERRGC +5 77 (36 41) * PR BEK  LBRKAGC +10 82 (43 39)
* H #F  mea»dEcc +5 77 (37 40) * 2 iE =RCC +10 82 (41 41)
* ||| 75 15700 +5 77 (38 39) * LLZF HE LETECC +10 82 (39 43)
* 18 /IR FE5, HEEBCC +6 78 (39 39) * SER thiD HGA +10 82 (39 43)
* IRA & EDEGC +6 78 (41 37) * FFEEX  #FAGR +10 82 (40 42)
* gt Bz HGA +6 78 (40 38) * AR EF EQHGC +10 82 (39 43)
* =ZiT0-Y 'ECC +6 78 (39 39) 51 KA 55 HGA +11 83 (41 42)
* SIE hx HGA +6 78 (39 39) WH 155 EEZREGC +11 83 (38 45)
* M 6T FmHMIGC  +6 78 (40 38) KA =42 HGA +11 83 (41 42)
* 24 I Bt IEBFECC +7 79 (41 38) MFH EE] HGRA +11 83 (43 40)
* KIE KRR LEGC +7 79 (40 39) 55 #EH & £rCC +12 84 (44 40)
* R = EEERGC +7 79 (42 37) AM =R HEFPAIGR +12 84 (43 41)
* BHRE S¢IE FEDRGC +7 79 (39 40) =g BE FEDHEGC +12 84 (41 43)
* hHEH B EBR#EGC +7 79 (39 40) A G2 HGA +12 84 (42 42)
* 29 {hEE R HGA +8 80 (40 40) FA EH HGA +12 84 (43 41)
* =H ARt N\FARCC +8 80 (42 38) 60 FEA {252 JEDEGC +13 85 (44 41)
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